SDA-VEY (BB RERZHT) N SDA-V(H5 R 38) 160000
ﬁi E g! / %}ﬁ }:TE gg SDA-VZ(£$MBkE!) 130000
'50
8- dwl \
i &
0%}
LA
(BB
Tw
2515 | S8 | Wk | BEAR| AT E AT ESTT R
4R RLER % SDA-V SDA-VZ SDA-V | SDA-VZ
ARES GifRiFeR) | (WA |(GRER (2R
Ca Coa Ca Coa K K

d Ph dp dc %l X kN kN kN kN N/pum N/ pm
SDA 3810V-5 38 10 39 32.4 1X5 63.4 | 117.7| 60.4 [123.1 629 654
SDA 3812V-5 38 12 39 32.4 1X5 63.4 | 117.7| 60.3 |[123.3 628 655
SDA 3815V-5 38 15 39 32.4 1X5 63.2 | 117.7| 60.2 [123.6 627 655
SDA 3816V-5 38 16 39 32.4 1X5 63.2 | 117.7| 60.2 (123.7 627 656
SDA 3820V-5 38 20 39 32.4 1X5 63.0 | 111.9 60 116.9 632 657
SDA 3825V-4 38 25 39 32.4 1X4 51.1 87.8 | 48.6 | 92.7 500 525
SDA 3830V-3 38 30 39 32.4 1X3 38.7 | 64.9 | 36.9 | 68.2 373 390
SDA 3840V-2 38 40 39 32.4 1X2 25.7 42 24.4 | 43.9 244 253
sk SDA 4008VZ-5 40 8 41.25 36.4 1X5 — — 42.2 | 99.4 — 663
SDA 4010VA-5 40 10 41.75 35.2 1X5 65.6 | 126.4| 62.5 | 132.3 664 692
SDA 4012VA-5 40 12 41.75 | 35.2 1X5 65.5 | 126.4| 62.4 |132.5 664 692
SDA 4015VA-5 40 15 41.75 35.2 1X5 65.4 |1 126.4| 62.3 |132.8 663 693
SDA 4016VA-5 40 16 41.75 35.2 1X5 65.4 | 126.4| 62.3 [132.9 663 693
SDA 4020VA-5 40 20 41.75 | 35.2 1X5 65.2 |1127.7| 62.1 |133.4 668 695
SDA 4020VA-10 40 20 41.75 35.2 2X5 [118.4|254.1|112.8 | 266.9 1288 1345
SDA 4025VA-4 40 25 41.75 35.2 1X4 52.9 | 94.5 | 50.4 | 99.4 531 558)
SDA 4030VA-3 40 30 41.75 35.2 1X3 40.1 70.3 | 38.2 | 73.1 398 412
SDA 4030VA-6 40 30 41.75 35.2 2X3 72.8 | 139.2| 69.4 |146.1 764 798
SDA 4040VA-2 40 40 41.75 35.2 1X2 26.6 | 44.7 | 25.4 | 46.9 256 267
SDA 4040VA-4 40 40 41.75 | 35.2 2X2 48.4 | 89.4 | 46.1 | 93.8 496 518

) Reraeehi  ARC i B ST A T SDA-VZ (£ RO &L

NERE S B B3

SDA3810V Z

e
AHREE

ENIKBFRIC

(FREFZREITARIE)

-5 TT GO +830L

—
LATHBIE (L 1Lmm) | FEARIE 00)

[0 I8 BRATIC Ox2)

T T
B# mHED

(%1)

C5

(FUE=f:GOBBR . FCHiE=f:GTiER)

(%1) 2HRIM15-380. (X2)2HRE15-19. (%3)5HMA15-12.

1594 Al

NFRELS KGR

B HAEX THIBERARSTFE A

https://tech.thk.com




514-2C

PRiR A BUG TR AL

L1
H B1
B2
’l= =/7
¢ D1 — - - 4L gde| ¢dlsDS
L
¢ D g6
BT mm
2R ZATHE |28 | #h BFsER
M | H2EE | 2k AT (58 | R | | SO |
D D: Li H B B. | PCD | d Tw A kgem’/mm | kg [kg/m| min’ min™
63 93 65 | 14 | 50 | 20 | 78 | 9 | 70 | m8x1 | 1.60%x10% | 1.1 [7.79| 4100 | 3330
63 93 74 | 14 [ 59 | 20 | 78 | 9 | 70 | M8x1 | 1.60%x10¢ [1.23]7.97| 4100 | 3330
63 93 88 | 14 | 73 | 20 | 78 | 9 | 70 | m8x1 | 1.60%x10° [1.41]8.09| 4100 | 3330
63 93 93 [ 14 | 78 | 20 [ 78 [ 9 | 70 | M8x1 | 1.60%10¢ [ 1.5 [8.21| 4100 | 3330
63 93 112 14 | 97 | 20 | 78 | 9 | 70 | m8x1 | 1.60x 10 [1.77]8.35| 4100 | 3330
63 93 111 ]| 14 | 96 | 20 | 78 | 9 | 70 | m8x1 | 1.60%x10° [1.73]8.45| 4100 | 3330 3
63 93 [100| 14 | 85 | 20 | 78 | 9 | 70 | m8x1 | 1.60%x10° [1.56|8.53| 4100 | 3330
63 93 87 | 14 | 72 | 20 | 78 | 9 | 70 | M8x1 [ 1.60X10° [1.38(8.62| 4100 | 3330
61 91 55 | 14 | 41 | 20 | 76 | 9 | 68 | M8x1 | 1.97x10% [0.81[9.08] — 3150
70 | 100 [ 65 | 14 [ 50 | 20 | 8 | 9 | 75 | m8x1 | 1.97x10¢ [1.38] 8.9 | 3830 | 3110
70 | 100 [ 74 | 14 [ 59 | 20 | 8 | 9 | 75 | M8x1 | 1.97x10¢ [1.55]9.06| 3830 | 3110
70 | 100 | 88 [ 14 | 74 [ 20 [ 85 | 9 | 75 | mex1 | 1.97x10¢ [1.79[9.14| 3830 [ 3110
70 | 100 | 93 [ 14 | 78 [ 20 [ 85 | 9 | 75 | Mex1 | 1.97x10¢ | 1.9 [9.27| 3830 | 3110
70 | 100 | 112 | 14 | 97 | 20 [ 85 | 9 | 75 | M8BX1 | 1.97X10% |2.25(9.39| 3830 | 3110
70 | 100 | 112 | 14 | 97 [ 20 | 85 | 9 | 75 | mex1 | 1.97x10¢ |2.22[8.81| 3830 | 3110
70 | 100 [112 | 14 [ 97 | 20 | 8 | 9 | 75 | M8x1 | 1.97x10¢ [2.22]9.49| 3830 | 3110
70 | 100 [101 | 14 [ 86 | 20 | 8 | 9 | 75 | M8x1 | 1.97x10¢ [2.01]9.55| 3830 | 3110
70 | 100 | 101 | 14 | 86 | 20 | 85 | 9 [ 75 | Mex1 | 1.97x10¢ [1.97[9.13| 3830 [ 3110
70 | 100 | 88 [ 14 | 73 [ 20 | 85 | 9 | 75 | mex1 | 1.97x10¢ [1.77[9.63| 3830 | 3110
70 | 100 | 88 | 14 | 73 | 20 [ 85 | 9 | 75 | M8X1 | 1.97X10% [1.75(9.29| 3830 | 3110
8] B B mm
[B]BRFRIC GO GT
R EE 0z AT 0~0. 005

) R BB, B KR S8 FEHEIES RIE15-390.
LA HEIRLUAE IR T R A TAERE MBXHER, FETHCE .

Rt = eh B n BRI (KO 7R B9 R 5 81 5 167 o il e B AN B BT (Ca) BIS0% AT, B 62 1
AT R AR E B R — a \3
HEEUEH R A BIEIR G R ERAE X I RO, B3R s R B (KD BI80%{E I KB L= 0.3Ca
WHIREAE

=131 (Fa) 75 20. 3Caft, MIMEE (KO AT TR . K: RFRAFHINIEE.

EMEA-E15-379 TR E15-95





